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avgiiiuy (Aluminium) RN 0.22 0.90
nodae (Copper) SN 0.09 0.39
89 (Gold) SRNILIN 0.03 0.13
s (Ice) VoIl 0.50 2.10
R (Silver) STENILIN 0.06 0.23
w7 (Glass) RGN 0.20 0.84
wan (Iron) VoI 0.11 0.45
@N1ULa (Ethanol) VDIV 0.59 2.46
NALBTR (Glycerol) UBILNAT 0.58 2.43
1 (Water) YoM 1.00 4.18
1@‘131 (Water vapor) W 0.48 2.00

Naewe : 1 upaes = 4.18 9a

INANTN JuAANUFeuT e 0.06 WAaa3/NU B LwalyEd vineaufedldauseu 0.06 wAae3
lunsyiliiduaea 1 sy Jgaumiiiadu 1 asrwaled dmsudindainnuieudnnie 1 waaei/nsy
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We  Q wiu - USinaauSeunaanslasunsegade Svtedu uaases (cal)
m WU 1navesdans dviedu nsu (g)
c Wl AuSaudwizvedans dvihedu wrass/nsu asAwaldua (cal/g °C)

At unu gaungiivesadsiAsuwlatly w3e aamaliga (t,) - aaumgie (t)
fimbedu ssrwaded (°C)

ADENNITATUIN
Aodliusunaanusauwntiiuaaes evilihnduaa 100 nu Taamaiiiinduain 20 ssrnsadeadu 50 e
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LUAA AINAUNTT Q = mcAt
Azl Q=100gx 1 cal/g °C x (50 °C — 20 °C)
0O=100gx1 cal/g°C x 30 °C
Q = 3,000 cal

faty AaalrANUSauLAtIUSLas 3,000 wAaes
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